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When comparing two expanded classes, “=” and “~” are 
exactly the same?

Let’s say x and y are instances of the same class, and within 
that class there is some reference type attribute called `r`. 
When we do `x = y`, are we doing a reference comparison of 
all the attributes (e.g., `x.r = y.r`)? 

And when we do `x ~ y`, we’re doing a content comparison 
(e.g., `x.r ~ y.r`)?

Or is it the case that when we compare two expanded 
objects of the same type, we’re always comparing contents, 
regardless of the equal symbol? So even when we do `x = y`, 
it’ll just be `x.r ~ y.r`?
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Expanded Class vs Deep Copying (4)
local
   eb1, eb2: B1
   eb3, eb4: B2
   b1,b2: BOOLEAN
do
   ...
   eb1 = eb2
   eb3 ~ eb4
   ...
end
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Expanded Class vs Deep Copying (5)
Incompatible Types

- -

default
- -0→ redefined.
'

-
-

%:
( not calling

0 any version of
⇒
- equal) .



= us . is - equal
D. expanded

= = n E TS
- equal

When you define a to default version C
' '

to

class
, if objects of that class

=

compare each

maybe compared using us ② redefined version
""

② reference "9%4%1 equal. ffa¥default
or""

=
: compare by reference o¥eqd%IIat

~ = A-equal→
D default version (

' '

I' to
=

compare att)
② redefined version



Use as a Constructor but Not a Command
class SUPPLIER

create 
      make

feature 
   make (init_i: INTEGER)
      do
         i := init_i
      end

feature
   i: INTEGER
end

class CLIENT_2
   ...
   test: BOOLEAN
      local
         s, old_s: SUPPLIER
      do
         create s.make (5)
         old_s := s
         create s.make (5)
         print (old_s = s)
         old_s := s
         s.make (7)
         print (old_s = s)
      end
end
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We can avoid initializing the object as expanded classes do it by default. 

However, I was wondering in a class where we can have 
multiple constructors (some classes have make_empty and 
make_from_tuple) , how will expanded classes work in that case or are 
they allowed to have multiple constructors?
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Use of Distinct DATA_ACCESS Objects

access, access_other: DATA_ACCESS
d1,d2 : DATA
...
d1 := access.data
d2 := access_other.data
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expanded # D- A 1⇒d'
data :B-D ④ D-A
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expanded # D- A ⇐d 'd
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